Pro a,b € R, b > 1 definujeme:

> a+ 00 = o0, > 0000 = 00, > = =0,

» a— 00 = —00, » (—o0):(—0) =00, P b>® =00,
> 00+ 00 = 00, > 0 (—x) = —o0, > Hh>® =0,
» —00— 00 = —00, > |+ oo| = o0, > logj, 00 = 0.
» Je-lia>0, pak a-c0o=00, a-(—o0)=—00.

» Je-lia<0, pak a-00=—00, a-(—o0) = 0.

> 2 neni definovdno pro ziddné a € R.
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Pro a,b € R, b > 1 definujeme:

> a+ 00 = o0, > 0000 = 00, > = =0,

> a— 00 = —00, » (—00) - (—o0) =00, P b* =0,

> o0+ 00 = 00, > o0 (—o0) = —o0, > Hh® =,

> —00 — 00 = —00, » |+ oo| = oq, > log, 00 = 00.
» Jelia>0, pak a-co=00, a-(—o0)=—oc.

» Jelia<0, pak a-00=—00, a-(—o0)=oc.

> § neni definovdno pro Zadné a € R.
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